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Express the equation f(x) = x* — 4x® + 3x2 + 3x + 7 in the form of (x — 1)
Flx) = x* —4x3 +3x% + 3x + 7 & (x — 1) 97 916 [APRIFCI IF7T FF4

2. What is the number of negative roots of the equation

x4+ xS +xt—x3—-3x2-2x-1=07?

x6 + x5 + x* — x3 — 3x2 — 2x — 1 = 0 9% YNIFAOT NS NS 97 AT Fo?

ax? + bx + ¢ = 0 3% 29 AR TN 936 A x + [y 2T 9w (6 F0?
If one root of the equation ax? + bx + ¢ = 0 with integer coefficient is X+\/§, then
the other root is

0 I MEH A IBETHNIT AR B=1— A T ORE AB N 2&
If a square matrix A is idempotent and B=I-A, then what is the value of AB?

0 1 1
ffms |1 0 1| 9 FITFe?
1 1 0
0 1 1
What is the value of the determinant? |1 0 1
1 1 0

(2 %) o Frrire mfem w7

What is the inverse of matrix ((2) i) ?

x+y+z=0,2x—y+4z=0, x+5y—72=0 TNFIFSTR AT ST (Tl ?

How are the solutions of the equationsx + y+2z=0, 2x —y+4z=0, x + 5y —
7z=07

G 9P (6 A 93 B (FTH &3 (I 517

Which property is held by two sets A and B ?
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fSafG I (76 4, B a3 € (F1 &% (A 5017

Which property is held by three sets A, Band C ?

fSae f:N - N 938TE R&© T f(n) = n2,n € N, ORE f (FJF 6aT ?

If a mapping f: N — N is defined by f(n) = n?,n € N, then what type of mapping is
this?

fSad f:R — R 928TE & 39 (T f(x) = x,x € R, ORE f (FFNA {62 ?

If a mapping f: R = Ris defined by f(x) = x,x € R, then what type of mapping is f

fSad f:R — R 928TE & 39 (T f(x) = 1,x € R, ORE f (FFA {62 ?

If a mapping f: R = Ris defined by f(x) = 1,x € R, then what type of mapping is f

@1 5T (S,*)-A ffesry &of sye i a7 o {3572

What is the commutative property of the groupoid (S,*)?

(@I TP (S,*)-a ST & I = 97 o {372

What is the associative property of the groupoid (S,*)?

fygfafie @&t a3 w1 2@?

Which of the followings is a group ?

fyafafde @& vaft [fesaass ?

Which of the following groups is abelian ?

(R, +)-93 TAfog AT SAW 2-95 T 9?

What is the order of the element 2 in the group (R, +)?
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faafafie @At (M, (R), +)-9F O 2F ?

Which of the followings is the subgroup of (M,(R),+)?

faafafie @& 7@t ts ue ?
Which of following is cyclic group ?
(@ T (S, +,%)-37 TS (@1 &3 ST G 57

In the ring (S, +,*), which of the following properties is satisfied ?

fagfaie @@t 936 Iq9 3  ?

Which of the followings is a ring ?

forsifeiae (F16 9Ff6 TAT F3e 7@ 1 ?

Which of the followings is not an integral domain ?

faafaie @&t 930 (Fa 3 @?

Which of the followings is a field ?

(2 ?) a2 fbsfes ordem amef 6 2

What are the eigen values of the matrix ((2) i) ?

(S,,0)-92 WA TN F© ?

What is the order of the group (S,,,°) ?

ferfeifire (Foa o1 e anw?

Which of the following has zero divisor ?

(2,3) 932 (6,4) T NRAENTT wHFaT 2

What is the equation of the straight line passing through (2,3) and (6,4) ?

93TB (ST TRNFFT [T T T (FEEF FI3 (0,0) 932 T @



29.

30.

Find the equation of a circle with centre position at (0,0) and radius a .

2i —j+ 3k, i+j—2k, 2i-3j—4k (SSISTI @HET GG [F ?

What is the modulus of the sum of the following vectors ?

20i—j+3k, i+j—2k 2i—3j—4k

A AT FFT (i — 2j + 3k) x (2i +j —3k).(j + k)

Find the value of (i —2j+3k)x (2i+j—3k).(j+k).



